
Spiel 1 Spiel 2 Gesamt

Spiel 036 13:59 B 1 HINTERSTEINER Josefa 47 + 59 = 106

B 2 WITTNER Josefa 40 + 53 = 93

Spiel 038 14:13 B 3 BUCHBERGER Elfriede 40 + 36 = 76

B 4 ASCHAUER Rosa 51 + 53 = 104 #

Spiel 040 14:26 B 4 ASCHAUER Rosa 59 + 56 = 115 #

B 1 HINTERSTEINER Josefa 49 + 52 = 101 #

Spiel 042 14:40 B 2 WITTNER Josefa 42 + 46 = 88

B 3 BUCHBERGER Elfriede 41 + 27 = 68

Spiel 044 14:54 B 2 WITTNER Josefa 49 + 43 = 92

B 4 ASCHAUER Rosa 48 + 50 = 98 O

Spiel 046 15:08 B 1 HINTERSTEINER Josefa 49 + 60 = 109

B 3 BUCHBERGER Elfriede 38 + 41 = 79 #


